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Name (Roal): . . (£5

Circle your class number.
Class Number Instructor Name 7i
i [Hani Kebajeh i Tiias- Al CIET e |
2 Maher Abdallatif M -_«_t_e-___()gl_ﬁF _S_C_1912 i
\Y 10:00 - 11: Cll14 ‘
3 Maher Abdallatif M, W _1_1i25 -12:40 SEK
4 Hani Kabajah TR 10:00 - 11:15 SCI114 ‘
5 Mohammad Madiah M, W 12:50 - 14:05 SCI115
6 Batool Raddad R 12:50 - 14:05 SCI1021
—waj. R 14:15 - 15:30 SCI116
. —Batool Raddad W 14:15 - 15:30 ,
9 Mahmoud Ghannam ;R 12:50 - 14:05 SCI213
Circle the most correct answer.
v
1) The following are stock prices for a certain stock. f
e , ¢ &1‘;
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: (1) 2 (F)
Y4 Letthe random variable x has the following probability distribution. t
x 2 3 2 :
[ |o12 038 0.40 ol f
m.uwathﬁwghqﬂb
it d
d. 0.16 S SMJC“L | t
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10) Let the random varisble x has the following probability distribution.

x 0 1 2 3
f(x) 0.22 2 0.‘0 0'04
Then, P(x = 1) is equal to gL = \
a. 022
Ev) = & 34
0.56
% d. 044
¥ 11)The data given below were taken from a study sbout smoking. The table beOw
)wmdmmofmkmumnymﬁmw@?m“
mAmwwﬁmnmmummwvwh‘l@ﬂ“
_aman or a smoker? p(mnvsnkﬂ) = Q(man)* Plsmoker ) — e(ang)
: Swiokers Nonsmokers Total
Men : 300 150 ugo
Women — 100 450 re
Toal | weo \eog

- D V.



Lib www.bzu-lib.com

/
mwmmmxmunrouommwu?mmm -
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x 2 3 5 7
f(x) 0.12 0.38 0.40 0.1
5 (mean
Then, the expected value E(x) is equal to

a 425
4
4,08
o 0.25
lG)uttbundomvaﬁnchhlﬁherollowingmhbimme

we 0 1 2 3
f(x) 0.25 0.19 0.49 0.07

nz,p‘x;sz)heqnﬂto ocre 2) = Plo) ~ QLAY A ol )
o 26 & -\ &g
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21) The following are stock prices for a L

e e . _d— S

th?ss‘w 12,29, 32, U, Ub
& 5

o )
d 25 . ' J
’ L = 3- 26 *—b (A -+ U‘
22) One of e $ilicwiog b a disckag reodom vaceble
amount filled in a bottle
)b., 'hhnoeof‘:mmm
The number of employees who finished a training course

The profit of a project
certain customers are small owners. A random sample
sz;om f::ug a.m:'mr the number of customers who
w> 20 “9-:‘

“RPC-P)
guns(-”)('- 3h) = W65

ean salan was 4750 and the standard deviation was 475.
P X, wako
s = w3y

$E65%0) = S0 — WO oo

.—d-_'.—- AR,
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summer semester 2018/2019

STAT2361- Test 1

Name .G, Kas kam.

Question (1). Circle the most correct answer.
Wl) One of the following is a graphical presentation of the cumulative distribution:
a) Histogram

442'-) One of the following is a measure of the distribution shape
a) 'Mwe X N
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34) The data given below were taken from a study about
indicates the numbers
hbh.lfawynnh

!QG
45

c.
d. 25

v
%
y)mmmmmu.mm
F 1 [ 25 [ 45 Al 32 | Lo
What is the median?

13, 25, 82,43, 44
2 >y

smoking. The table below

Smokers

of people to their and smoking
-@W
. Nonsmokers Total

300

150
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28) The following are stock prices for a certain stock.
|:75L B - | % &2 | /’, 5
What is the sample mean? 135, 26, 5%, A9, Uh
a. 1183
1.6
c 1322
d. 139.84
7 29)For the following dats, find the estimated regression equai
. 15 18 2 b“
qhv; bo ! .x
=152+ 0.27x
bo: A — ‘0. |W

a ¥
= 0.27 - 1.52x
9 =10.14+2.69x by - 8-
9 =269 +10.14x o
4 o =\ “s = \0.\A +q.6L
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Question (3), Consider following data sample
! T i amn b sy §
" Answer the following. K. w& A8 2.2
of the data. :
¢ o mmiw* . ‘»Wmd, T §]-,
median of the =
| Vamug-yb _}ié:ﬂs//md'ﬂ)‘/

v 3) mmp;u—mfmm population mean

Sample_mean {:]/ Pand eshmthj
%

£74) Find the sample variance.

Vasiancc e(;" = e

W 5) Find @y n

E———

10
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";)ﬁmoumm.mm salary Is
b) variable

%) The percentage of male employees s

=

¢ 20%
£ Q

Element
¢) Census

l n: 20
Q Consider the following data for a sample of 20 students -
class Relative frequency = e
o o = T |
200D _ 03 242
30-39 0.45 o I =g, 6 — 3
4049 R 3 2 M——-
Total =t =20 : ———

11




